Fifth Grade Weekly Homework Sheet 13                                   
Name______________________________     Date:  _________________            Score ____________________
	CCSS
	MONDAY 
	WEDNESDAY 

	Number and Operations Base Ten:

5.NBT
	Write in word form: 300,070,000,005.009


	< or >?

a.    0.6   ____  0.65

b.  2.128 ____  2.1

c.   0.56  ____   0.561



	Number and Operations Base Ten:

5.NBT
	Marta has 8 bar magnets, each with a mass of 12.6 grams. What is the total mass of the magnets?


	Missy is three times as old as her sister Marci. If the sum of their ages is 24, how old is each girl?

	Operations and Algebraic Thinking

5.OA
	Write an expression that means find the difference of 78 minus 22.5, and then divide by 4.
	1000 X 15.567 =

	Number and Operations Fractions:

5.NF
	List the first 5 multiples of:

2: 

3: 

Circle the smallest number common to both lists. This is the least common multiple (LCM).
	List the first 5 multiples of:

  5: 

10: 

Circle the smallest number common to both lists. This is the least common multiple (LCM).

	Number and Operations Base Ten:

5.NBT
	I have 7 millions, 5 ten-thousands, 11 hundreds, 15 tens, 6 thousands, 17 tenths, 17 hundredths, and 12 thousandths. What number am I?
	In the 1988 Olympics, Florence Griffith Joyner of the U.S. set a record for the women’s 100 dash. Her time was ten and sixty-two hundredths. How is that written in standard form? 


	Operations and Algebraic Thinking

5.OA
	Solve:

(50 - 5 x 3) ÷ (10  - 3)


	What is the value of the expression below 

                           when n=3?

       58 - (4 x n)

A. 15

B. 46

C. 51

D. 162Common  

	Geometry:

5.G


	Name this figure:

             [image: image1.wmf]

	All sides are congruent.

The length of one side is 112 cm. What is the perimeter?



	Measurement and Data:

5.MD


	Convert  units:
a) _____ c =  3 qt

b) 3 ½ ft.= _____in

c) 80 oz = ______ c


	Convert  units:
a) 16oz. = _____ lb.

b) 100 in= _____ft _____in

c) 4 c = ______oz


	THURSDAY 
	Challenge 

	Round to the 10ths place:
a. 12.648

b. 5,024.781

	***A firefighter stood on the middle rung of a ladder, spraying water on a burning house. He then climbed up 6 rungs before the heat of the flames caused him to come down 10 rungs. After some minutes he was able to climb 18 rungs to the very top of the ladder. How many rungs did the ladder have? 

	Jose wants to run 10 miles this week. If he ran 2.8 miles on Monday, how many more miles does he
 need to run to reach his goal?

	

	Sam received his allowance of $10, then spent $8 at the movies. He then earned $15 raking his neighbor’s leaves. Finally, he bought a t-shirt for $11. Write an expression to show how many money he has now.


	

	List the first 5 multiples of:

4: 

12: 

Circle the smallest number common to both lists. This is the least common multiple (LCM).

	**A shop sells apples at $1 each. Each of these apples are wrapped in a special wrapper. You can trade 3 of these wrappers for 1 apple. 
If you have $15, how many apples can you get altogether?

	Yellowstone Park celebrated its 50th anniversary in 1922. 
a.  When was the park created?  _______________
b.  How old is it now?  ______________________


	****A man wanted to get into his work building, but he had forgotten his code. However, he did remember five clues. These are what those clues were:

*The fifth number plus the third number equals fourteen. 

*The fourth number is one more than the second number. 

*The first number is one less than twice the second number. 

*The second number plus the third number equals ten. 

*The sum of all five numbers is 30.

What were the five numbers and in correct order?
___________________________________________

	$134.00  ÷  10   =
	

	What is the perimeter of the following parallelogram?
                                12.03m

                       

          4.19m


	

	Convert  units:
a) 16 c = _____ qt

b) 133 in= _____ft _____in

c) 72 oz = ______ c
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